Service Parts Catalog e Contents

BLUE BIRD

PageSet ¥
380 Seats
BARRIERS
DRIVER'S, INSTALLATION
1
DRIVER'S, INSTALLATION WITH FORWARD SEATING
2
DRIVER'S SEAT
3
BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST
With: OPTION 02827 WITH OPTION 2831
4
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST
With: OPTION 02827, WITH OPTION 2831
5
With: OPTION 02827 WITH OPTION 2831
6
BOSTROM ROUTEMASTER + AIRE SEAT AND FRAME DIAGRAM
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST
With: OPTION 02827, WITH OPTION 2831
7
With: OPTION 02827 WITH OPTION 2831
8
BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES
AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST
With: OPTION 02827, STD AAFE, AARE, WITH OPTION 2831
9
With: OPTION 02827, STD AAFE, AARE, WITH OPTION 2831
10
With: OPTION 02827, STD AAFE, AARE, WITH OPTION 2831
11
With: OPTION 02827, STD AAFE, AARE, WITH OPTION 2831
12
With: OPTION 02827, STD AAFE, AARE, WITH OPTION 2831
13
With: OPTION 02827, STD AAFE, AARE, WITH OPTION 2831
14
HYDRAULIC UNITS, WITH ARMREST
With: OPTION 02827, WITH OPTION 2831
15

With: OPTION 02827, WITH OPTION 2831
16




Service Parts Catalog @ Contents

BLUE BIRD

PageSet ¥
With: OPTION 02827 WITH OPTION 2831
17
With: OPTION 02827 WITH OPTION 2831
18
UssC
19
PASSENGER SEATING
SEAT TRACK
20

STANCHIONS, AND GUARDRAILS
WITH MODESTY PANEL

21




Service Parts Catalog 380 Seats

L Page Set PS0004784

Models: | C4RE
BARRIERS
DRIVER'S, INSTALLATION

L 4
Key PartNumber Qty Description Comment

]

To order, contact your Blue Bird Authorized Dealer
PageSet Number —



Service Parts Catalog 380 Seats

L Page Set PS0004784

Models: | C4RE
BARRIERS
DRIVER'S, INSTALLATION

@
Key PartNumber Qty Description Comment

1 0041971 BARRIER,DRIVERS,BRONZE,C4RE

2 0035708 6 EXTRUSION,CLAMP,DRIVERS BARRIER, C4RE
3 0043315 PLATE,DRIVERS BARRIER, C4RE

4 0041235 2 EXTRUSION,CLAMP,56.75, C4RE

5 0038635 2 FITTING,FLOOR, C4RE

6 0041063 2 FITTING,W/INSERT,STANCHION,C4RE

7 0046621 2 TUBE,SS,RD,1.250 OD X .050 X 23.75,SS 304
8 0046601 TUBE,SS,RD,1.250 OD X .050 X 64.75,SS 304
9 0046610 TUBE,SS,RD,1.250 OD X .050 X 78.75,SS 304
10 2001360 18 NUT,ACORN,1/4-20,NICKEL"

11 1541176 18 SCREW,MACH 1/4-20 X 3/4,PH1, TRUSSHD,

12 0041067 4 FITTING,TEE,W/HARDWARE,STANCHION, C4RE

13 1589530 10 SCREW,1/4-14 X 3/4,AB,PH1,PAN HD,YEL ZN

NI 0051852 PAD,SAFETY,POLYURETHANE TUBING,37.00,
NI 0052174 PAD,SAFETY,POLYURETHANE TUBING,14.00,
NI 0051849 PAD,SAFETY,POLYURETHANE TUBING,8.00,

To order, contact your Blue Bird Authorized Dealer
PageSet Number —



Service Parts Catalog 380 Seats

L Page Set PS0004785

Models: | C4RE
BARRIERS
DRIVER'S, INSTALLATION WITH FORWARD SEATING

L 4
Key PartNumber Qty Description Comment

To order, contact your Blue Bird Authorized Dealer
PageSet Number —



Service Parts Catalog 380 Seats

L Page Set PS0004785

Models: | C4RE
BARRIERS
DRIVER'S, INSTALLATION WITH FORWARD SEATING

Key ‘PartNumber Qty Description Comment
1 0050688 BARRIER,DRIVERS,FORWARD FACING SEAT,

2 0050905 STANCHION,INSIDE,DRIVERS BARRIER, C4RE

3 0050904 STANCHION,OUTSIDE,DRIVERS BARRIER, C4RE

4 0046621 TUBE,SS,RD,1.250 OD X .050 X 23.75,SS 304

5 0035708 4 EXTRUSION,CLAMP,DRIVERS BARRIER, C4RE
6 0050987 2 EXTRUSION,CLAMP,22.75, C4RE

7 0037823 2 EXTRUSION,CLAMP,29.75, C4RE

8 0041063 2 FITTING,W/INSERT,STANCHION,C4RE

9 0041067 2 FITTING,TEE,W/HARDWARE,STANCHION, C4RE
10 1661651 2 FITTING,STANCHION,ADJUSTABLE,1.25 ID
11 1062124 10 SCREW,1/4-14 X 1,AB,PH1,PAN HD,YEL ZN
12 2001360 15 NUT,ACORN,1/4-20,NICKEL"

13 1541176 15 SCREW,MACH 1/4-20 X 3/4,PH1,TRUSSHD,
14 0043315 PLATE,DRIVERS BARRIER, C4RE

15 1607043 2 SCREW,TUBE FITTING,INTERNAL THD,1/4-28

16 1607035 2 SCREW,TUBE FITTING,EXTERNAL THD,1/4-28

17 0051852 PAD,SAFETY,POLYURETHANE TUBING,37.00,
18 0052174 PAD,SAFETY,POLYURETHANE TUBING,14.00,
18 0051849 PAD,SAFETY,POLYURETHANE TUBING,8.00,

To order, contact your Blue Bird Authorized Dealer
PageSet Number n



Service Parts Catalog 380 Seats

L Page Set PS0004882

Models: | C4RE
DRIVER'S SEAT

L 4
Key PartNumber Qty Description Comment

INCLUDED
WITH
TETHER
ASSY

INCLUDED WITH
TETHER ASSY

(2) INCLUDED WITH
O _— TETHER ASSY

To order, contact your Blue Bird Authorized Dealer
PageSet Number n



Service Parts Catalog 380 Seats
?

Models: | C4RE
DRIVER'S SEAT

@
Key PartNumber Qty Description Comment

1 0014177 SEAT,DR,BOST,RTMSTR+AIR,BLK VNL/FABRIC
0654962 A/ TUBING,PLASTIC,1/4 OD,BLACK,SAE 1844 TYPE

2005700 A/ LOOM,ASPHALTUM,WIRE,1/4IN

0032971 UNION, TUBE, 1862X4-Z,.25T
2008233 ELBOW,BRASS,69 X 4,1/8 X 1/4
2023224 CONNECTOR,1/4 MPT X 1/4 TUBE,205183

2 0801910 4 CAPSCREW,HEX HD,3/8-16 X 2,GR8,YEL ZN

3 1013689 4 NUT,HEX HD,3/8-16, WASHER SER,YEL ZN DICH

4 1695790 TETHER,ASSY,SEAT BELT,16.00,BLACK,F10263
2 BOLT, 7/16-20 X 1 1/4 PART OF ITEM 4
4 WASHER, FLAT, .468 X .937 X .062 PART OF ITEM 4
4 NUT, LOCK, 7/16-20 PART OF ITEM 4
2 BOLT, 7/16-20 X 1 3/4, GRADE 5 PART OF ITEM 4
2 2.50 DIA, REINFORCEMENT PLATE PART OF ITEM 4
5 0035305 S/BELT ASSY,ST MTD,SGL ALR,F12927,A/CINCH

6 1078922 4 WASHER,FLAT,3/8 X 7/8 X 5/64,YEL ZN DICH

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog

380 Seats

Models:

With:

Page Set PS0004927

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,

SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST
OPTION 02827 WITH OPTION 2831

Key

L 4
PartNumber Qty Description

Comment

To order, contact your Blue Bird Authorized Dealer

00301042

AIR SUPPLY
TO VALVE "IN"

AIR SPRING TO

VALVE "OUT"

PageSet Number n



Service Parts Catalog

380 Seats

Models:

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST

With: | OPTION 02827 WITH OPTION 2831

Key PartNumber Qty Description Comment

58 0027916 LEVER,SPEED ADJUSTER HANDLE METAL ROD W/BLACK RUBBER
CAP

59 RIVET

60 WASHER FLAT

61 SCREW SOCKET M8X16MM

62 CAP SCREW M8X25MM

63 FLAT WASHER

64 HEX NUT M8X1.25

65 UPPER PLATE ASSY NON IDOLATOR

66 INNER LEVER ASSY

67 8308009 RISER ASSY.BOSTROM 915 DR.SEAT

68 OUTER LEVER ASSY

69 CHANNEL WELDMENT FOR SLIDE RAILS

70 ICP BRACKET KIT; CONSIST OF 70 AND 71

71 ICP BRACKETS

72 CAP SCREW M8X12MM

NI 0016472 SHOCK, BOSTRUM, RTMTR, 6222082-001

NI 8314965 KIT,RHEONETIC DAMPER"

NI BASE ASSY, BOSTROM

NI 8311425 BASE ASSY BOSTRUM,2321524-001" WITH STANDARD SHOCK

NI (END W/BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304)

NI 0063777 BASE,ASSY,BSTRM,RT MSTR + AIR,HVY DUTY  WITH HEAVY DUTY STOCK

NI (BEG W/BSN/B10032560,

To order, contact your Blue Bird Authorized Dealer

F10017550, L10027925,
M10035640, X10007305)

PageSet Number n



Service Parts Catalog

380 Seats

Models:

With:

Page Set PS0004697

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,

SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST
OPTION 02827, WITH OPTION 2831

Key

L 4
PartNumber Qty Description

Comment

To order, contact your Blue Bird Authorized Dealer

00301042

AIR SUPPLY
TO VALVE "IN"

AIR SPRING TO

VALVE "OUT"

PageSet Number _



Service Parts Catalog
L

380 Seats

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,

SBCV, TCFE, TCRE, TSFE, T2RE
DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST
With: | OPTION 02827, WITH OPTION 2831

Key O artNumber Qty Description Comment

23 4315586 KIT, SUSPENSION HDW BOSTROM 6222076 CONSISTS OF 24 THRU 32

24 2 BUMPER RUBBER

25 2 SPACER ROLLER

26 6 BEARING MULTILUBE

27 4 BEARING BLOCK SINTERED

28 6 SCREW CAP M 8X20MM HX CL

29 2 BOLT SHOULDER M8 X 1.25

30 4 BLOCK - SLIDE

31 2 STOP BLOCK ASSY

32 3 NUTHEXM8 X1.25LKCL9

33 4315594 KIT, DAMPER BOSTROM 6222067-001" CONSISTS OF 34 THRU 37

34 2 BEARING MULTILUBE

35 2 WASHER, FL 2.00M X 12.48 X 22.00

36 2 FASTENER PUSH ON

37 STANDARD DAMPER

38 4315602 KIT AIR SPRING BOSTROM 6222086-001 CONSISTS OF 39 THRU 42

39 SCREW CAP M 8XMM HX LOC 08.8

40 3.3 TUBING NYLON BLACK 1/4 OK

41 SCR M8X1.25 LFHD C4 8 BLK OX

42 AIR SPRING ASSY

43 4315610 KIT, AIR VALVE BOSTROM 6222077-001" CONSISTS OF 44 THRU 48.
UP/DOWN, PUSH PULL VALVE.

43 8313868 KIT,LH,AIR VAVLE ASSY 6222163-001 CONSISTS OF 44 THRU 48
ROCKER TYPE TRIPLE SWITCH,

UP/DOWN/LUMBAR

To order, contact your Blue Bird Authorized Dealer

PageSet Number “



Service Parts Catalog
L

380 Seats

Page Set PS0004697

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,

SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST
With: | OPTION 02827, WITH OPTION 2831

Key O artNumber Qty Description Comment

44 CLAMP CABLE

45 TUBING NYLON BLACK 1/4 O.D.

46 SCREW THD CUT NO 10 24

47 VALVE PNEUMATIC - GT

48 REINFORCEMENT BUMPER

49 4315628 KIT, KNOBS AND TILT RODS BOSTROM CONSISTS OF 50 THRU 54

50 4321451 KNOB,BOST,DRIVERS SEAT ADJUSTMENT"

51 2 CLIP BRACKET, CAM SHAFT

52 TILT ROD WELDMENT

53 2 PLASTIC RIVET

54 2 BLOCK, CAM

55 4315636 KIT SLIDE RAIL 7"" BOSTROM 6222128-001" CONSISTS OF 56 THRU 64

56 SEAT ADJUST NON-LOCKING

57 SEAT ADJUST WITH LATCH

58 0027916 LEVER,SPEED ADJUSTER HANDLE METAL ROD W/BLACK RUBBER
CAP

59 2 RIVET

60 8 WASHER FLAT

61 4 SCREW SOCKET M8X16MM

62 4 CAP SCREW M8X25MM

63 4 FLAT WASHER

64 4 HEX NUT M8X1.25

65 UPPER PLATE ASSY NON IDOLATOR

66 INNER LEVER ASSY

To order, contact your Blue Bird Authorized Dealer

PageSet Number “



Service Parts Catalog

380 Seats

Models:

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST

With: | OPTION 02827, WITH OPTION 2831

Key PartNumber Qty Description Comment

67 8308009 RISER ASSY.BOSTROM 915 DR.SEAT

68 OUTER LEVER ASSY

69 CHANNEL WELDMENT FOR SLIDE RAILS

70 ICP BRACKET KIT; CONSIST OF 70 AND 71

71 ICP BRACKETS

72 CAP SCREW M8X12MM

NI 0016472 SHOCK, BOSTRUM, RTMTR, 6222082-001

NI 8314965 KIT,RHEONETIC DAMPER"

NI BASE ASSY, BOSTROM

NI 8311425 BASE ASSY BOSTRUM,2321524-001" WITH STANDARD SHOCK

NI (END W/BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304)

NI 0063777 BASE,ASSY,BSTRM,RT MSTR + AIR,HVY DUTY  WITH HEAVY DUTY STOCK

NI (BEG W/BSN/B10032560,

To order, contact your Blue Bird Authorized Dealer

F10017550, L10027925,
M10035640, X10007305)

PageSet Number “



Service Parts Catalog

380 Seats

Models:

With:

Page Set PS0004926

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,

SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST
OPTION 02827 WITH OPTION 2831

Key

L 4
PartNumber Qty Description

Comment

To order, contact your Blue Bird Authorized Dealer

00301042

AIR SUPPLY
TO VALVE "IN"

AIR SPRING TO

VALVE "OUT"

PageSet Number n



Service Parts Catalog
L

380 Seats

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,

SBCV, TCFE, TCRE, TSFE, T2RE
DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN
AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST
With: | OPTION 02827 WITH OPTION 2831

Key ‘PartNumber Qty Description Comment

23 4315586 KIT, SUSPENSION HDW BOSTROM 6222076 CONSISTS OF 24 THRU 32

24 2 BUMPER RUBBER

25 2 SPACER ROLLER

26 6 BEARING MULTILUBE

27 4 BEARING BLOCK SINTERED

28 6 SCREW CAP M 8X20MM HX CL

29 2 BOLT SHOULDER M8 X 1.25

30 4 BLOCK - SLIDE

31 2 STOP BLOCK ASSY

32 3 NUT HEX M8 X 1.25 LK CL 9

33 4315594 KIT, DAMPER BOSTROM 6222067-001" CONSISTS OF 34 THRU 37

34 2 BEARING MULTILUBE

35 2 WASHER, FL 2.00M X 12.48 X 22.00

36 2 FASTENER (PUSH ON)

37 STANDARD DAMPER

38 4315602 KIT AIR SPRING BOSTROM 6222086-001 CONSISTS OF 39 THRU 42

39 SCREW CAP M 8XMM HX LOC 08.8

40 3.3 TUBING NYLON BLACK 1/4 OK

41 SCR M8X1.25 LFHD C4 8 BLK OX

42 AIR SPRING ASSY

43 4315610 KIT, AIR VALVE BOSTROM 6222077-001" CONSISTS OF 44 THRU 48.
UP/DOWN, PUSH PULL VALVE.

43 8313868 KIT,LH,AIR VAVLE ASSY 6222163-001 CONSISTS OF 44 THRU 48
ROCKER TYPE TRIPLE SWITCH,

UP/DOWN/LUMBAR

To order, contact your Blue Bird Authorized Dealer

PageSet Number n



Service Parts Catalog 380 Seats

L Page Set PS0004926

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE BASE BREAKDOWN

AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST

With: | OPTION 02827 WITH OPTION 2831

Key O artNumber Qty Description Comment

44 CLAMP CABLE

45 TUBING NYLON BLACK 1/4 O.D.

46 SCREW THD CUT NO 10 24

47 VALVE PNEUMATIC - GT

48 REINFORCEMENT BUMPER

49 4315628 KIT, KNOBS AND TILT RODS BOSTROM CONSISTS OF 50 THRU 54
50 4321451 KNOB,BOST,DRIVERS SEAT ADJUSTMENT"

51 2 CLIP BRACKET, CAM SHAFT

52 TILT ROD WELDMENT

53 2 PLASTIC RIVET

54 2 BLOCK, CAM

55 4315636 KIT SLIDE RAIL 7"" BOSTROM 6222128-001" CONSISTS OF 56 THRU 64
56 SEAT ADJUST NON-LOCKING

57 SEAT ADJUST WITH LATCH

To order, contact your Blue Bird Authorized Dealer
PageSet Number n



Service Parts Catalog 380 Seats

Models:

With:

Page Set PS0004696

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT AND FRAME DIAGRAM

AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST

OPTION 02827, WITH OPTION 2831

Key

PartNumber Qty Description Comment

00301041
1
5
Co
N 2
, L 4
'/‘f

To order, contact your Blue Bird Authorized Dealer

NOTE:  APPLY LUBRICANT TO
SHAFT THREADS & INSIDE
SUPPORT CHANNE




Service Parts Catalog 380 Seats
2

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT AND FRAME DIAGRAM

AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST

With: | OPTION 02827, WITH OPTION 2831

Key O artNumber Qty Description Comment
4/5 ARMREST RH AND LH OPT 2831
1697762 ARMREST,BOSTROM,BROWN VINYL
1697770 ARMREST,BOSTROM,BROWN VINYL,FIRE
0078719 ARM REST ASSY,DRV,BOST,BN ATHOL
1697788 ARMREST,BOSTROM,GREEN VINYL
1697796 ARMREST,BOSTROM,DK GREEN ,FIRE RET
0078722 ARM REST ASSY,DRV,BOST,GN ATHOL
1697804 ARMREST,BOSTROM,BLACK VINYL
0078717 ARM REST ASSY,DRV,BOST,BK ATHOL
0002326 ARMREST,BOSTROM,BURGUNDY VINYL
0002328 ARMREST,BOSTROM,BURG VINYL,FIRE
0078720 ARM REST ASSY,DRV,BOST,BG ATHOL
0002327 ARMREST,BOSTROM,BLUE VINYL
0002330 ARMREST,BOSTROM,BLUE VINYL,FIRE
0078718 ARM REST ASSY,DRV,BOST,BL ATHOL PROFORM
0078860 ARM REST ASSY,DRV,BOST,TL ATHOL PROFORM
NI 8301400 KIT,RETROFIT,ARM REST,BOST DRI SEAT" PRIOR TO 1996
NI 0027664 KIT,ARMREST INSERT 6222159-001
6 4315552 FRAME ASSY,HI-BK BOSTROM 6200755-001
7 8307613 KIT,LUMBAR,222,BOSTROM SEAT CONSISTS OF 8 THRU 18
8 LUMBAR SUPPORT SHAFT
9 LUMBER SLIDE SHAFT WELDMENT
10 LUMBER ADJUSTMENT BLOCK

To order, contact your Blue Bird Authorized Dealer
PageSet Number



Service Parts Catalog 380 Seats

L Page Set PS0004696

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT AND FRAME DIAGRAM

AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST

With: | OPTION 02827, WITH OPTION 2831

Key O artNumber Qty Description Comment
11 LUMBER SHAFT WELDMENT

12 2 LUMBER SPRING

13 LUMBER LINKAGE

14 2 PUSHNUT 5/16 IN

15 2 PUSHNUT 3/8 IN

16 2 EXTERNAL RETAINING RING

17 0049851 COVER, SUSPENSION, BALCK VINYL, BOSTROM

18 2 XMAS TREE CLIP

NI 8302507 KNOB,BOSTROM SEAT BACK LUMBAR ADJ."

19 4315578 KIT, FASTENERS, SEAT MTG. BOSTROM CONSISTS OF 20, 21, & 22
20 2 SCREW, CAP M 8X40MM FULLTHRDZP

21 2 BOLT SHDR M8X1.25

22 2 WASHER FL 060X0.34X0.68 ZP

48 PART OF KIT KEY # 43

54 PART OF KIT KEY # 49

70 4315701 KIT, IPC BRACKET BOSTROM 622127-001" CONSISTS OF 71 THRU 72
71 2 ICP BRACKETS

72 4 CAP SCREW M8X12MM

NI 8312100 FOAM,SEAT CUSHION,BOST RTE MASTER T,

NI 4315826 FOAM,BACK,SEAT,HI-BK BOSTROM"

To order, contact your Blue Bird Authorized Dealer
PageSet Number



Service Parts Catalog 380 Seats

Models:

With:

Page Set PS0004925

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT AND FRAME DIAGRAM

AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST

OPTION 02827 WITH OPTION 2831

Key

PartNumber Qty Description Comment

00301041
1
5
Co
N 2
, L 4
'/‘f

To order, contact your Blue Bird Authorized Dealer

NOTE:  APPLY LUBRICANT TO
SHAFT THREADS & INSIDE
SUPPORT CHANNE

PageSet Number n



Service Parts Catalog 380 Seats
?

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT AND FRAME DIAGRAM

AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST

With: | OPTION 02827 WITH OPTION 2831

Key O artNumber Qty Description Comment
4/5 ARMREST OPT 2831 (RH AND LH)
1697762 ARMREST,BOSTROM,BROWN VINYL
1697770 ARMREST,BOSTROM,BROWN VINYL,FIRE
0078719 ARM REST ASSY,DRV,BOST,BN ATHOL
1697788 ARMREST,BOSTROM,GREEN VINYL
1697796 ARMREST,BOSTROM,DK GREEN ,FIRE RET
0078722 ARM REST ASSY,DRV,BOST,GN ATHOL
1697804 ARMREST,BOSTROM,BLACK VINYL
0078717 ARM REST ASSY,DRV,BOST,BK ATHOL
0002326 ARMREST,BOSTROM,BURGUNDY VINYL
0002328 ARMREST,BOSTROM,BURG VINYL,FIRE
0078720 ARM REST ASSY,DRV,BOST,BG ATHOL
0002327 ARMREST,BOSTROM,BLUE VINYL
0002330 ARMREST,BOSTROM,BLUE VINYL,FIRE
0078718 ARM REST ASSY,DRV,BOST,BL ATHOL PROFORM
0078860 ARM REST ASSY,DRV,BOST,TL ATHOL PROFORM
NI 8301400 KIT,RETROFIT,ARM REST,BOST DRI SEAT" PRIOR TO 1996
NI 0027664 KIT,ARMREST INSERT 6222159-001
6 4315552 FRAME ASSY,HI-BK BOSTROM 6200755-001
7 8307613 KIT,LUMBAR,222,BOSTROM SEAT CONSISTS OF 8 THRU 18
8 LUMBAR SUPPORT SHAFT
9 LUMBER SLIDE SHAFT WELDMENT
10 LUMBER ADJUSTMENT BLOCK

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog 380 Seats

L Page Set PS0004925

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT AND FRAME DIAGRAM

AIR & HYDRAULIC BRAKE UNITS, WITH ARMREST

With: | OPTION 02827 WITH OPTION 2831

Key O artNumber Qty Description Comment
11 LUMBER SHAFT WELDMENT

12 2 LUMBER SPRING

13 LUMBER LINKAGE

14 2 PUSHNUT 5/16 IN

15 2 PUSHNUT 3/8 IN

16 2 EXTERNAL RETAINING RING

17 0049851 COVER, SUSPENSION, BALCK VINYL, BOSTROM

18 2 XMAS TREE CLIP

NI 8302507 KNOB,BOSTROM SEAT BACK LUMBAR ADJ."

19 4315578 KIT, FASTENERS, SEAT MTG. BOSTROM CONSISTS OF 20, 21, & 22
20 2 SCREW, CAP M 8X40MM FULLTHRDZP

21 2 BOLT SHDR M8X1.25

22 2 WASHER FL 060X0.34X0.68 ZP

48 PART OF KIT KEY # 43

54 PART OF KIT KEY # 49

70 4315701 KIT, IPC BRACKET BOSTROM 622127-001" CONSISTS OF 71 THRU 72
71 2 ICP BRACKETS

72 4 CAP SCREW M8X12MM

NI 8312100 FOAM,SEAT CUSHION,BOST RTE MASTER T,

NI 4315826 FOAM,BACK,SEAT,HI-BK BOSTROM"

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog 380 Seats

L Page Set PS0004691

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
BOSTROM ROUTEMASTER + AIR FOR AIR OPT 2827

1697606 SEAT,DR,BOST,RTMSTR+AIR,BROWN VINYL END WITH BSN B0256964,
F0188893, L0018799, M0369415

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

1860204 SEAT,DR,BOST,RTMSTR+AIR,BROWN VINYL FROM BSN B0256965, F0188894,
L0018800, M0369414
TO BSN B10032559, F10017549,
L10027924, M10035639,
X10007304

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

0014178 SEAT,DR,BOST,RTMSTR+AIR,BROWN VINYL BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640 X10007305

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

1697614 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL,FIRE RET END WITH BSN B0256964,
F0188893, L0018799, M0369415

4324273 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

1860212 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL,FIRE RET FROM BSN B0256965, F0188894,
L0018800, M0369414
TO BSN B10032559, F10017549,
L10027924, M10035639,
X10007304

4324273 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

0014179 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL,FIRE RET BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

4324273 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

0078685 SEAT,DRV,BOST,RTMSTR+AIR,BN,PRFM II

1697622 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL / FABRIC END WITH BSN B0256964,

F0188893, L0018799, M0369415

To order, contact your Blue Bird Authorized Dealer
PageSet Number n




Service Parts Catalog 380 Seats

L Page Set PS0004691

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN
1860220 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL/FABRIC FROM BSN B0256965, F0188894,

L0018800, M0369414
TO BSN B10032559, F10017549,
L10027924, M10035639,

X10007304

4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN

4320834 COVER ASSY,CUSH,BOST,OPT 2825(27),BRN

0014180 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL/FABRIC BEGIN WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN

0078686 SEAT,DRV,BOST,RTMSTR+AIR,BN,PRFM 1I,

To order, contact your Blue Bird Authorized Dealer
PageSet Number n



Service Parts Catalog 380 Seats

L Page Set PS0004692

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
1697630 SEAT,DR,BOST,RTMSTR+AIR,GREEN VINYL END WITH BSN B0256964,
F0188893, L0018799, M0369415
1697648 SEAT,DR,BOST,RTMSTR+AIR,GRN VNL,FIRE RET
1860246 SEAT,DR,BOST,RTMSTR+AIR,DK GRN VNL,FIRE FROM BSN B0256965, F0188894,

L0018800, M0369414
TO BSN B10032559, F10017549,
L10027924, M10035639,

X10007304

4324265 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

0014188 SEAT,DR,BOST,RTMSTR+AIR,DK GRN VNL,FIRE BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

4324265 COVER ASSY,HI-BK,BOST,OPT 28248&5,KEV

0078691 SEAT,DRV,BOST,RTMSTR+AIR,GN,PRFM II

1697655 SEAT,DR,BOST,RTMSTR+AIR,GRN VNL / FABRIC END WITH BSN B0256964,
F0188893, L0018799, M0369415

4318879 COVER ASSY,CUSH,DRI,BOST,OPT 2825,

4324232 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,GRN

1697663 SEAT,DR,BOST,RTMSTR+AIR,BLACK VINYL END WITH BSN B0256964,
F0188893, L0018799, M0369415

1860261 SEAT,DR,BOST,RTMSTR+AIR,BLACK VINYL FROM BSN B0256965, F0188894,
L0018800, M0369414
TO BSN B10032559, F10017549,
L10027924, M10035639,
X10007304

0014176 SEAT,DR,BOST,RTMSTR+AIR,BLACK VINYL BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

4315776 COVER ASSY.HI-BK,BOST.OPT.2824,5,7,BLK

0078681 SEAT,DRV,BOST,RTMSTR+AIR,BK,PRFM II

1697671 SEAT,DR,BOST,RTMSTR+AIR,BLK VNL / FABRIC END WITH BSN B0256964,
F0188893, L0018799, M0369415

1860279 SEAT,DR,BOST,RTMSTR+AIR,BLK VNL/FABRIC

To order, contact your Blue Bird Authorized Dealer
PageSet Number m



Service Parts Catalog 380 Seats
?

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

L 4
Key PartNumber Qty Description Comment

TO BSN B10032559, F10017549,
L10027924, M10035639,

X10007304

4315800 COVER ASSY.HI-BK BOST.OPT. 2824 BLK

0014177 SEAT,DR,BOST,RTMSTR+AIR,BLK VNL/FABRIC BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

4315800 COVER ASSY.HI-BK BOST.OPT. 2824 BLK

0028037 COVER ASSY CUSH,DRI,BOST,BLACK VNYL

0078682 SEAT,DRV,BOST,RTMSTR+AIR,BK,PRFM 1II,

To order, contact your Blue Bird Authorized Dealer
PageSet Number m



Service Parts Catalog

380 Seats

Page Set PS0004693

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,

SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES
AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment

0014184 SEAT,DR,BOST,RTMSTR+AIR,BURG VNL/FAB BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

8317422 COVER ASSY,CUSH,BURGUNDY,VINYL FAB"

8317448 COVER ASSY,BACK,DRVR,BOST,BURG,VINYL

8317950 COVER ASSY,BACK,DRVR,BOST,BURG KEV

0078687 SEAT,DRV,BOST,RTMSTR+AIR,BG,PRFM II

0078688 SEAT,DRV,BOST,RTMSTR+AIR,BG,PRFM II,

0002315 SEAT,DR,BOST,RTMSTR+AIR,BLUE VINYL

0014185 SEAT,DR,BOST,RTMSTR+AIR,BLUE VINYL BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

0002314 SEAT,DR,BOST,RTMSTR+AIR,BLUE VNL,FIRE

0014186 SEAT,DR,BOST,RTMSTR+AIR,BLUE VNL,FIRE

0078683 SEAT,DRV,BOST,RTMSTR+AIR,BL,PRFM II BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

0002312 SEAT,DR,BOST,RTMSTR+AIR,BLUE VNL/FABRIC

0014187 SEAT,DR,BOST,RTMSTR+AIR,BLUE VNL/FABRIC BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

0013504 COVER ASSY,CUSH,BOST.DVR, BLUE FABRIC

0013505 COVER ASSY,BACK,BOST.DVR, BLUE FABRIC

0057074 SEAT,DR,BOST,RTMSTR+AIR,BLUE KEV/FAB

0078684 SEAT,DRV,BOST,RTMSTR+AIR,BL,PRFM 11,

0078857 SEAT,DRV,BOST,RTMSTR+AIR,TL,PRFM II

To order, contact your Blue Bird Authorized Dealer

PageSet Number “



Service Parts Catalog 380 Seats

L Page Set PS0004920

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
BOSTROM ROUTEMASTER + AIR FOR AIR OPT 2827

1697606 SEAT,DR,BOST,RTMSTR+AIR,BROWN VINYL ENDING WITH BSN B0256964,
F0188893, L0018799, M0369415

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

1860204 SEAT,DR,BOST,RTMSTR+AIR,BROWN VINYL FROM BSN/B0256965, F0188894,
L0018800, M0369414
TO BSN/B10032559, F10017549,
L10027924, M10035639,
X10007304

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

0014178 SEAT,DR,BOST,RTMSTR+AIR,BROWN VINYL BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640 X10007305

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

1697614 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL,FIRE RET ENDING WITH BSN B0256964,
F0188893, L0018799, M0369415

4324273 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

1860212 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL,FIRE RET FROM BSN/B0256965, F0188894,
L0018800, M0369414
TO BSN/B10032559, F10017549,
L10027924, M10035639,
X10007304

4324273 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

0014179 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL,FIRE RET BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

4324273 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

0078685 SEAT,DRV,BOST,RTMSTR+AIR,BN,PRFM II

1697622 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL / FABRIC ENDING WITH BSN B0256964,

F0188893, L0018799, M0369415

To order, contact your Blue Bird Authorized Dealer
PageSet Number n




Service Parts Catalog 380 Seats

L Page Set PS0004920

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN
1860220 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL/FABRIC FROM BSN/B0256965, F0188894,

L0018800, M0369414
TO BSN/B10032559, F10017549,
L10027924, M10035639,

X10007304

4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN

4320834 COVER ASSY,CUSH,BOST,OPT 2825(27),BRN

0014180 SEAT,DR,BOST,RTMSTR+AIR,BRN VNL/FABRIC BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN

0078686 SEAT,DRV,BOST,RTMSTR+AIR,BN,PRFM 1II,

To order, contact your Blue Bird Authorized Dealer
PageSet Number n



Service Parts Catalog 380 Seats

L Page Set PS0004921

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
1697630 SEAT,DR,BOST,RTMSTR+AIR,GREEN VINYL ENDING WITHBSN B0256964,
F0188893, L0018799, M0369415
1697648 SEAT,DR,BOST,RTMSTR+AIR,GRN VNL,FIRE RET
1860246 SEAT,DR,BOST,RTMSTR+AIR,DK GRN VNL,FIRE FROM BSN/B0256965, F0188894,

L0018800, M0369414; TO
BSN/B10032559, F10017549,
L10027924, M10035639,

X10007304

4324265 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

0014188 SEAT,DR,BOST,RTMSTR+AIR,DK GRN VNL,FIRE BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

4324265 COVER ASSY,HI-BK,BOST,OPT 28248&5,KEV

0078691 SEAT,DRV,BOST,RTMSTR+AIR,GN,PRFM II

1697655 SEAT,DR,BOST,RTMSTR+AIR,GRN VNL / FABRIC ENDING WITH BSN B0256964,
F0188893, L0018799, M0369415

4318879 COVER ASSY,CUSH,DRI,BOST,OPT 2825,

4324232 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,GRN

1697663 SEAT,DR,BOST,RTMSTR+AIR,BLACK VINYL ENDING WITH BSN B0256964,
F0188893, L0018799, M0369415

1860261 SEAT,DR,BOST,RTMSTR+AIR,BLACK VINYL FROM BSN/B0256965, FO188894,
L0018800, M0369414; TO
BSN/B10032559, F10017549,
L10027924, M10035639,
X10007304

0014176 SEAT,DR,BOST,RTMSTR+AIR,BLACK VINYL BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

4315776 COVER ASSY.HI-BK,BOST.OPT.2824,5,7,BLK

0078681 SEAT,DRV,BOST,RTMSTR+AIR,BK,PRFM II

1697671 SEAT,DR,BOST,RTMSTR+AIR,BLK VNL / FABRIC ENDING WITH BSN B0256964,
F0188893, L0018799, M0369415

1860279 SEAT,DR,BOST,RTMSTR+AIR,BLK VNL/FABRIC FROM BSN/B0256965, F0188894,

L0018800, M0369414; TO
BSN/B10032559, F10017549,
L10027924, M10035639,

To order, contact your Blue Bird Authorized Dealer
PageSet Number m




Service Parts Catalog 380 Seats
?

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
X10007304
4315800 COVER ASSY.HI-BK BOST.OPT. 2824 BLK
0014177 SEAT,DR,BOST,RTMSTR+AIR,BLK VNL/FABRIC BEGIN WITH BSN/B10032560,

F10017550, L10027925,
M10035640, X10007305

4315800 COVER ASSY.HI-BK BOST.OPT. 2824 BLK
0028037 COVER ASSY CUSH,DRI,BOST,BLACK VNYL
0078682 SEAT,DRV,BOST,RTMSTR+AIR,BK,PRFM II,

To order, contact your Blue Bird Authorized Dealer
PageSet Number m



Service Parts Catalog

380 Seats

Page Set PS0004922

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,

SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES
AIR BRAKE UNITS / STD AAFE, AARE, WITH ARMREST

With: | OPTION 02827, STD AAFE, AARE, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment

0014184 SEAT,DR,BOST,RTMSTR+AIR,BURG VNL/FAB BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

8317422 COVER ASSY,CUSH,BURGUNDY,VINYL FAB"

8317448 COVER ASSY,BACK,DRVR,BOST,BURG,VINYL

8317950 COVER ASSY,BACK,DRVR,BOST,BURG KEV

0078687 SEAT,DRV,BOST,RTMSTR+AIR,BG,PRFM II

0078688 SEAT,DRV,BOST,RTMSTR+AIR,BG,PRFM II,

0002315 SEAT,DR,BOST,RTMSTR+AIR,BLUE VINYL

0014185 SEAT,DR,BOST,RTMSTR+AIR,BLUE VINYL BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

0002314 SEAT,DR,BOST,RTMSTR+AIR,BLUE VNL,FIRE

0014186 SEAT,DR,BOST,RTMSTR+AIR,BLUE VNL,FIRE

0078683 SEAT,DRV,BOST,RTMSTR+AIR,BL,PRFM II BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

0002312 SEAT,DR,BOST,RTMSTR+AIR,BLUE VNL/FABRIC

0014187 SEAT,DR,BOST,RTMSTR+AIR,BLUE VNL/FABRIC BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

0013504 COVER ASSY,CUSH,BOST.DVR, BLUE FABRIC

0013505 COVER ASSY,BACK,BOST.DVR, BLUE FABRIC

0057074 SEAT,DR,BOST,RTMSTR+AIR,BLUE KEV/FAB

0078684 SEAT,DRV,BOST,RTMSTR+AIR,BL,PRFM 11,

0078857 SEAT,DRV,BOST,RTMSTR+AIR,TL,PRFM II

To order, contact your Blue Bird Authorized Dealer

PageSet Number n



Service Parts Catalog

380 Seats

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,

SBCV, TCFE, TCRE, TSFE, T2RE
DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES
HYDRAULIC UNITS, WITH ARMREST

With: | OPTION 02827, WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
BOSTROM ROUTEMASTER + AIR FOR OPT 2827

1697689 SEAT,DR,BOST,RTMSTR+AIR,HYD,BROWN END WITH BSN B10032559,
F10017549, L10027924,
M10035639, X10007304

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

0014192 SEAT,DR,BOST,RTMSTR+AIR,HYD,BROWN BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

1697697 SEAT,DR,BOST,RTMSTR+AIR,HYD,BRN VNL, END WITH BSN B10032559,
F10017549, L10027924,
M10035639, X10007304

4321923 COVER ASSY,CUSH,BOST,0OPT2825 & 27,KEV

4324273 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

0014193 SEAT,DR,BOST,RTMSTR+AIR,HYD,BRN VNL, BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

4321923 COVER ASSY,CUSH,BOST,0OPT2825 & 27,KEV

4324273 COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

0078709 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BN,PRFM II

1697705 SEAT,DR,BOST,RTMSTR+AIR,HYD,BRN VNL END WITH BSN B10032559,
F10017549, L10027924,
M10035639, X10007304

0014194 SEAT,DR,BOST,RTMSTR+AIR,HYD,BRN BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

4320834 COVER ASSY,CUSH,BOST,OPT 2825(27),BRN

4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN

0078710 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BN,PRFM II,

To order, contact your Blue Bird Authorized Dealer

PageSet Number “



Service Parts Catalog 380 Seats

L Page Set PS0004694

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

HYDRAULIC UNITS, WITH ARMREST

With: | OPTION 02827, WITH OPTION 2831

L 4
Key PartNumber Qty Description Comment

0002316 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURGUNDY  END WITH BSN B10032559,
F10017549, L10027924,
M10035639, X10007304

0014195 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURGUNDY  BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

0002318 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURG VNL, = END WITH BSN B10032559,
F10017549, L10027924,
M10035639, X10007304

8317950 COVER ASSY,BACK,DRVR,BOST,BURG KEV

0014196 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURG VNL, = BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

0017168 COVER CUSH BOST, OPT 2827 BURG KEV

0017166 COVER ASSY HI BK, BOST 2827 BURG KEV

0078711 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BG,PRFM II

0002320 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURG END WITH BSN B10032559,
F10017549, L10027924,
M10035639, X10007304

8317448 COVER ASSY,BACK,DRVR,BOST,BURG,VINYL

0014197 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURG BEG WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

0078712 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BG,PRFM II,

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog

380 Seats

Models:

With:

Key

PartNumber

Qty Description

Comment

To order, contact your Blue Bird Authorized Dealer

0002317

0014198

0002319

0014199

0078707

0002321

0014200

0078708

1697721

4322087

4324232

0014201

4322087

4324265

0078715

1697747

0014189

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE VINYL

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE VINYL

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE VNL,

SEAT,DR,BOST,RTMSTR+AIR,HYD.BLUE VNL,

SEAT,DRV,BOST,RTMSTR+AIR,HYD,BL,PRFM II

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE

SEAT,DRV,BOST,RTMSTR+AIR,HYD,BL,PRFM II,

SEAT,DR,BOST,RTMSTR+AIR,HYD,DK GRN VNL,

COVER ASSY,CUSH,BOST,OPT 2825,KEV GRN,

COVER ASSY,HI-BK,BOST,OPT 2824&5&7,GRN

SEAT,DR,BOST,RTMSTR+AIR,HYD,DK GRN VNL,

COVER ASSY,CUSH,BOST,OPT 2825,KEV GRN,

COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

SEAT,DRV,BOST,RTMSTR+AIR,HYD,GN,PRFM II

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLACK VINYL

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLACK VINYL

ENDING WITH BSN B10032559,
F10017549, L10027924,
M10035639, X10007304

BEGIN WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

ENDING WITH BSN B10032559,
F10017549, L10027924,
M10035639, X10007304

BEGIN WITH BSN B10032560,
F10017550, L10027925,
M10035640, X10007305

ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304)

ENDING WITH BSN/B10032559,
F10017549, L10027924,

PageSet Number m

Page Set PS0004695

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES
HYDRAULIC UNITS, WITH ARMREST

OPTION 02827, WITH OPTION 2831



Service Parts Catalog 380 Seats

L Page Set PS0004695

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

HYDRAULIC UNITS, WITH ARMREST

With: | OPTION 02827, WITH OPTION 2831

L 4
Key PartNumber Qty Description Comment

M10035639, X10007304)

4315776 COVER ASSY.HI-BK,BOST.OPT.2824,5,7,BLK

0078705 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BK,PRFM II

1697754 SEAT,DR,BOST,RTMSTR+AIR,HYD,BLK VNL 1217218-431, ENDING WITH
BSN/B10032559, F10017549,
L10027924, M10035639,
X10007304

0064632 CUSHION ASSY,UPPER,BLACK VINYL&CLOTH,

0014190 SEAT,DR,BOST,RTMSTR+AIR,HYD,BLK 1239409-431, BEGIN WITH
BSN/B10032560, F10017550,
L10027925, M10035640,
X10007305

0064632 CUSHION ASSY,UPPER,BLACK VINYL&CLOTH,

4319620 COVER ASSY,CUSH,BOST,0PT2825(27),BLK

4315800 COVER ASSY.HI-BK BOST.OPT. 2824 BLK

0078706 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BK,PRFM 1I,

0078859 SEAT,DRV,BOST,RTMSTR+AIR,HYD,TL,PRFM II

To order, contact your Blue Bird Authorized Dealer
PageSet Number m



Service Parts Catalog 380 Seats

L Page Set PS0004923

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

HYDRAULIC UNITS, WITH ARMREST

With: | OPTION 02827 WITH OPTION 2831

Key ‘PartNumber Qty Description Comment
BOSTROM ROUTEMASTER + AIR FOR OPTION 2827
1697689 SEAT,DR,BOST,RTMSTR+AIR,HYD,BROWN ENDING WITH BSN/B10032559,

F10017549, L10027924,
M10035639, X10007304

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

0014192 SEAT,DR,BOST,RTMSTR+AIR,HYD,BROWN BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

4328571 COVER ASSY,CUSH,BOST,OPT 2827,BRN VNYL"

4324224 COVER ASSY,HI-BK,BOST,OPT 2824&5&7,BRN

1697697 SEAT,DR,BOST,RTMSTR+AIR,HYD,BRN VNL, ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

4321923 COVER ASSY,CUSH,BOST,0PT2825 & 27,KEV

4324273 COVER ASSY,HI-BK,BOST,OPT 28248&5,KEV

0014193 SEAT,DR,BOST,RTMSTR+AIR,HYD,BRN VNL, BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

4321923 COVER ASSY,CUSH,BOST,0PT2825 & 27,KEV

4324273 COVER ASSY,HI-BK,BOST,OPT 28248&5,KEV

0078709 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BN,PRFM II

1697705 SEAT,DR,BOST,RTMSTR+AIR,HYD,BRN VNL ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

0014194 SEAT,DR,BOST,RTMSTR+AIR,HYD,BRN BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

4320834 COVER ASSY,CUSH,BOST,OPT 2825(27),BRN

4325387 COVER ASSY,HI-BK,BOST,OPT 2824&25,BRN

0078710 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BN,PRFM II,

To order, contact your Blue Bird Authorized Dealer
PageSet Number



Service Parts Catalog 380 Seats

L Page Set PS0004923

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

HYDRAULIC UNITS, WITH ARMREST

With: | OPTION 02827 WITH OPTION 2831

L 4
Key PartNumber Qty Description Comment

0002316 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURGUNDY  END WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

0014195 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURGUNDY  BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

0002318 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURG VNL,  ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

8317950 COVER ASSY,BACK,DRVR,BOST,BURG KEV

0014196 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURG VNL,  BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

0017168 COVER CUSH BOST, OPT 2827 BURG KEV

0017166 COVER ASSY HI BK, BOST 2827 BURG KEV

0078711 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BG,PRFM II

0002320 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURG ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

8317448 COVER ASSY,BACK,DRVR,BOST,BURG,VINYL

0014197 SEAT,DR,BOST,RTMSTR+AIR,HYD,BURG BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

8317950 COVER ASSY,BACK,DRVR,BOST,BURG KEV

0078712 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BG,PRFM II,

To order, contact your Blue Bird Authorized Dealer
PageSet Number



Service Parts Catalog

380 Seats

Models:

With:

Key

PartNumber

Qty Description

Comment

To order, contact your Blue Bird Authorized Dealer

0002317

0014198

0002319

0014199

0078707

0002321

0014200

0078708

1697721

4322087

4324232

0014201

4322087

4324265

0078715

1697747

0014189

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE VINYL

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE VINYL

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE VNL,

SEAT,DR,BOST,RTMSTR+AIR,HYD.BLUE VNL,

SEAT,DRV,BOST,RTMSTR+AIR,HYD,BL,PRFM II

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLUE

SEAT,DRV,BOST,RTMSTR+AIR,HYD,BL,PRFM II,

SEAT,DR,BOST,RTMSTR+AIR,HYD,DK GRN VNL,

COVER ASSY,CUSH,BOST,OPT 2825,KEV GRN,

COVER ASSY,HI-BK,BOST,OPT 2824&5&7,GRN

SEAT,DR,BOST,RTMSTR+AIR,HYD,DK GRN VNL,

COVER ASSY,CUSH,BOST,OPT 2825,KEV GRN,

COVER ASSY,HI-BK,BOST,OPT 2824&5,KEV

SEAT,DRV,BOST,RTMSTR+AIR,HYD,GN,PRFM II

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLACK VINYL

SEAT,DR,BOST,RTMSTR+AIR,HYD,BLACK VINYL

ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

ENDING WITH BSN/B10032559,
F10017549, L10027924,
M10035639, X10007304

BEGIN WITH BSN/B10032560,
F10017550, L10027925,

PageSet Number “

Page Set PS0004924

AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES
HYDRAULIC UNITS, WITH ARMREST

OPTION 02827 WITH OPTION 2831



Service Parts Catalog 380 Seats

L Page Set PS0004924

Models: | AAFE, AARE, A3FE, A3RE, BBCV, C1FE, C4RE, CSFE, CSRE, GMCV, L3RE, L4RE, MBWB,
SBCV, TCFE, TCRE, TSFE, T2RE

DRIVER'S SEAT

BOSTROM ROUTEMASTER + AIRE SEAT ASSEMBLIES

HYDRAULIC UNITS, WITH ARMREST

With: | OPTION 02827 WITH OPTION 2831

L 4
Key PartNumber Qty Description Comment

M10035640, X10007305

4315776 COVER ASSY.HI-BK,BOST.OPT.2824,5,7,BLK

0078705 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BK,PRFM II

1697754 SEAT,DR,BOST,RTMSTR+AIR,HYD,BLK VNL 1217218-431 ENDING WITH
BSN/B10032559, F10017549,
L10027924, M10035639,
X10007304

0064632 CUSHION ASSY,UPPER,BLACK VINYL&CLOTH,

0014190 SEAT,DR,BOST,RTMSTR+AIR,HYD,BLK 1239409-431; BEGIN WITH
BSN/B10032560, F10017550,
L10027925, M10035640,
X10007305

0064632 CUSHION ASSY,UPPER,BLACK VINYL&CLOTH,

4319620 COVER ASSY,CUSH,BOST,0PT2825(27),BLK

4315800 COVER ASSY.HI-BK BOST.OPT. 2824 BLK BEGIN WITH BSN/B10032560,
F10017550, L10027925,
M10035640, X10007305

0078706 SEAT,DRV,BOST,RTMSTR+AIR,HYD,BK,PRFM 1I,

0078859 SEAT,DRV,BOST,RTMSTR+AIR,HYD,TL,PRFM II

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog 380 Seats

L Page Set PS0004705

Models: | C4RE
DRIVER'S SEAT

usscC
L 4 —
Key PartNumber Qty Description Comment
0047335 SEAT,DRIVERS,USSC 9100 ALX3, C4RE

0654962  2F TUBING,PLASTIC,1/4 OD,BLACK,SAE 1844 TYPE
2005700  4F LOOM,ASPHALTUM,WIRE,1/4IN

0032971 UNION,TUBE, 1862X4-Z,.25T

0850800 6 NUT,HEX HD,1/2-13,LOCKING,GR 8,CAD WAX
0803205 6 CAPSCREW,HEX HD,1/2-13 X 2,GR 8,YEL ZN
1003045 6 WASHER,FLAT,17/32 X 1 1/16 X 7/64,HDN,

1855758 6 WASHER,.531 X 2.500 X 11 GA,YEL ZINC DICH

2008233 ELBOW,BRASS,69 X 4,1/8 X 1/4

2023224 CONNECTOR,1/4 MPT X 1/4 TUBE,205183
0035305 S/BELT ASSY,ST MTD,SGL ALR,F12927,A/CINCH
0801910 CAPSCREW,HEX HD,3/8-16 X 2,GR8,YEL ZN
1013689 NUT,HEX HD,3/8-16,WASHER SER,YEL ZN DICH
1695790 TETHER,ASSY,SEAT BELT,16.00,BLACK,F10263

To order, contact your Blue Bird Authorized Dealer
PageSet Number m



Service Parts Catalog 380 Seats

L Page Set PS0004881

Models: | C4RE
PASSENGER SEATING
SEAT TRACK

L 4
Key PartNumber Qty Description Comment

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog

380 Seats

Models: | C4RE

PASSENGER SEATING
SEAT TRACK

Page Set PS0004881

L 4
Key PartNumber

Qty

Description

Comment

1 3982857

2 3979697

3 1686617

4 1542380

5 2190346

6 3984481

7 3984440

8 3984457

9 3984465

10 3984473

To order, contact your Blue Bird Authorized Dealer

AR

AR

AR

AR

AR

AR

AR

AR

AR

AR

TRACK,SEAT,WALL-MOUNTED, QB
TRACK,SEAT,FLOOR-MOUNTED, QB
PLUSNUT,1/4-20,525P280

CAPSCREW,HEX FLG,1/4-20X1.50,GRD5,BLACK
WASHER, FLAT,TYPE A,WIDE,1/2,ZN3
CAPSCREW,HEX,1/2-13 X 3/4,GR5,ZN3,
BOLT,SQUAREHEAD, 3/8-16 X 1 1/4,GR5,ZN3
WASHER,FLAT,7/16 X1 3/4 X 1/8,ZN3
WASHER,FLAT,7/16 X 1 1/4 X 1/8,ZN3

NUT,NYLOK,3/8-16,ZN3

PageSet Number “



Service Parts Catalog 380 Seats

L Page Set PS0004786

Models: | C4RE
STANCHIONS, AND GUARDRAILS
WITH MODESTY PANEL

L 4
Key PartNumber Qty Description Comment

To order, contact your Blue Bird Authorized Dealer
PageSet Number “



Service Parts Catalog

Models:

C4RE

STANCHIONS, AND GUARDRAILS
WITH MODESTY PANEL

380 Seats

Page Set PS0004786

Key

PartNumber

Qty

Description

Comment

1

10

11

12

13

14

15

16

17

18

18

To order, contact your Blue Bird Authorized Dealer

0046586

0041067

0041063

0038635

0035968

0035969

0042260

0042120

1841378

2000784

0422915

0029565

1607035

1607043

1713940

1062124

0051850

0051851

0052195

0052162

14

STANCHION,MODESTY PANEL, C4RE

FITTING, TEE,W/HARDWARE,STANCHION, C4RE
FITTING,W/INSERT,STANCHION,C4RE
FITTING,FLOOR, C4RE

HANDRAIL,REARWARD, C4RE
HANDRAIL,FORWARD, C4RE
RAIL,STANCHION,UPPER, C4RE
TUBE,SS,RD,1.250 OD X .050 X 25.25,SS 304
PAD ASSY,MODESTY PANEL,ENTRANCE DOOR,
SCREW,MACH,1/4-20X1/2,PH1, TRUSSHD,
RIVET,1/8 DIA,ALUMINUM,W/ST STEM
ELBOW,FLANGED,HANDRAIL,1.25 TUBE
SCREW,TUBE FITTING,EXTERNAL THD,1/4-28
SCREW,TUBE FITTING,INTERNAL THD,1/4-28
PANEL,MODESTY,ENTRANCE DOOR,QB
SCREW,1/4-14 X 1,AB,PH1,PAN HD,YEL ZN
PAD,SAFETY,POLYURETHANE TUBING,27.00,
PAD,SAFETY,POLYURETHANE TUBING,31.00,
PAD,SAFETY,PLOYURETHANE TUBING,9.25,

PAD,SAFETY,POLYURETHANE TUBING,4.25,

FEATURE 30818-05

FEATURE 30818-05

FEATURE 30818-05

FEATURE 30818-05 WITH

STANDEE

PageSet Number “





